



**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS  
COLUMBIA COUNTY PROJECT NUMBER 2025-01  
Dortch St.**

Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
101 1	MOBILIZATION	1	LS	\$169,334.33	\$169,334.33
102 1	MAINTENANCE OF TRAFFIC	1	LS	\$126,404.94	\$126,404.94
104 10 3	SEDIMENT BARRIER	2,500	LF	\$5.11	\$12,775.00
110 1 1	CLEARING & GRUBBING	1 04	AC	\$41,064.73	\$42,707.32
110 4 10	REMOVAL OF EXISTING CONCRETE	81 04	SY	\$75.93	\$6,153.37
110 7 1	MAIL BOX, F&I, SINGLE	10	EA	\$539.00	\$5,390.00
120 1	REGULAR EXCAVATION	997	CY	\$27.73	\$27,646.81
120 4	SUBSOIL EXCAVATION	300	CY	\$52.14	\$15,642.00
120 6	EMBANKMENT	109	CY	\$76.72	\$8,362.48
160 4	TYPE B STABILIZATION	1,297	SY	\$6.97	\$9,040.09
210 1 1	REWORKING LIMEROCK BASE	6,569	SY	\$7.18	\$47,165.42
210 2	LIMEROCK, NEW MATERIAL FOR REWORKING BASE	420	CY	\$43.79	\$18,391.80
285 7 04	OPTIONAL BASE GROUP 04	473	SY	\$32.42	\$15,334.66
286 1	TURNOUT CONSTRUCTION/DRIVEWAY BASE - OPTIONAL MATERIALS	1,361	SY	\$35.45	\$48,247.45
334 1 52	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22	978	TN	\$209.69	\$205,076.82
425 6	VALVE BOXES, ADJUST	4	EA	\$2,021.23	\$8,084.92
522 2	SIDEWALK CONCRETE AND DRIVEWAYS, 6" THICK	74	SY	\$226.43	\$16,755.82
527 2	DETECTABLE WARNING	94	SF	\$51.20	\$4,812.80
570 1 1	PERFORMANCE TURF	951	SY	\$0.81	\$770.31
570 1 2	PERFORMANCE TURF, SOD	2,331	SY	\$3.62	\$8,438.22
700 1111	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF	21	EA	\$727.65	\$15,280.65
700 1112	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12 0-20 0 SF	2	EA	\$976.92	\$1,953.84
700 1600	SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	19	EA	\$87.58	\$1,664.02
706 1 3	RETROREFLECTIVE PAVEMENT MARKERS	136	EA	\$13.47	\$1,831.92
710 90	PAINTED PAVEMENT MARKINGS FINAL SURFACE	1	LS	\$27,623.46	\$27,623.46
711 11130	THERMOPLASTIC, STANDARD, WHITE, VERTICAL DEFLECTION MARKING	6	EA	\$336.87	\$2,021.22
711 17 1	THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS-SURFACE TO REMAIN	100	SF	\$6.74	\$674.00
<b>SUB TOTAL</b>					<b>\$847,583.67</b>

**ALL ITEMS MAY BE INCREASED, DECREASED, OR OMITTED AS DIRECTED BY THE ENGINEER.**

**ALL MATERIALS AND CONSTRUCTION SHALL CONFORM TO BOTH THE REQUIREMENTS OF THE LATEST FDOT STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION AND THE LATEST FDOT DESIGN STANDARDS.**

**ALL INCIDENTAL WORK INCLUDED IN THESE ITEMS  
ALL UNIT PRICE AND TOTAL SPACES MUST BE FILLED IN TO CORRELATE WITH EACH ITEM**

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2025-01**  
**Dortch St.**

Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
101 1	MOBILIZATION	1	LS	158,241.00	158,241.00
102 1	MAINTENANCE OF TRAFFIC	1	LS	181,248.00	181,248.00
104 103	SEDIMENT BARRIER	2,500	LF	5.00	12,500.00
110 11	CLEARING & GRUBBING	1.04	AC	12,000.00	12,480.00
110 4 10	REMOVAL OF EXISTING CONCRETE	81.04	SY	65.00	5,267.60
110 7 1	MAIL BOX, F&I, SINGLE	10	EA	350.00	3,500.00
120 1	REGULAR EXCAVATION	997	CY	40.00	39,880.00
120 4	SUBSOIL EXCAVATION	300	CY	75.00	22,500.00
120 6	EMBANKMENT	100	CY	40.00	4,360.00
160 4	TYPE B STABILIZATION	1,207	SY	101.50	131,645.50
210 1 1	REWORKING LIMEROCK BASE	6,669	SY	16.00	105,104.00
210 2	LIMEROCK, NEW MATERIAL FOR REWORKING BASE	420	CY	48.00	20,160.00
285 7 04	OPTIONAL BASE GROUP 04	473	SY	130.00	61,490.00
286 1	TURNOUT CONSTRUCTION/DRIVEWAY BASE - OPTIONAL MATERIALS	1,381	SY	77.15	105,001.15
334 1 62	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG78-22	976	TN	265.00	259,170.00
425 6	VALVE BOXES, ADJUST	4	EA	1,500.00	6,000.00
522 2	SIDEWALK CONCRETE AND DRIVEWAYS, 6" THICK	74	SY	200.00	14,800.00
527 2	DETECTABLE WARNING	94	SF	60.00	5,640.00
570 1 1	PERFORMANCE TURF	951	SY	6.00	5,706.00
570 1 2	PERFORMANCE TURF, SOD	2,331	SY	7.50	17,482.50
700 1111	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF	21	EA	800.00	16,800.00
700 1112	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12.0-20.0 SF	2	EA	2,200.00	4,400.00
700 1600	SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	18	EA	75.00	1,425.00
706 1 3	RETROREFLECTIVE PAVEMENT MARKERS	136	EA	10.00	1,360.00
710 00	PAINTED PAVEMENT MARKINGS FINAL SURFACE	1	LS	24,864.00	24,864.00
711 11130	THERMOPLASTIC, STANDARD, WHITE, VERTICAL DEFLECTION MARKING	6	EA	800.00	4,800.00
711 17 1	THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS-SURFACE TO REMAIN	100	SF	50.00	5,000.00
<b>SUB TOTAL</b>					<b>1,230,824.75</b>

**ALL ITEMS MAY BE INCREASED, DECREASED, OR OMITTED AS DIRECTED BY THE ENGINEER.**

**ALL MATERIALS AND CONSTRUCTION SHALL CONFORM TO BOTH THE REQUIREMENTS OF THE LATEST FDOT STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION AND THE LATEST FDOT DESIGN STANDARDS.**

**ALL INCIDENTAL WORK INCLUDED IN THESE ITEMS  
ALL UNIT PRICE AND TOTAL SPACES MUST BE FILLED IN TO CORRELATE WITH EACH ITEM**

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS**  
**COLUMBIA COUNTY PROJECT NUMBER 2025-01**  
**Dortch St.**

Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
101 1	MOBILIZATION	1	LS	54,208.43	54,208.43
102 1	MAINTENANCE OF TRAFFIC	1	LS	113,895.33	113,895.33
104 10 3	SEDIMENT BARRIER	2,500	LF	5.12	12,800.00
110 1 1	CLEARING & GRUBBING	1.04	AC	9,003.38	19,763.52
110 4 10	REMOVAL OF EXISTING CONCRETE	81.04	SY	123.90	10,040.86
110 7 1	MAIL BOX, F&I, SINGLE	10	EA	202.16	2,021.60
120 1	REGULAR EXCAVATION	997	CY	25.83	25,752.51
120 4	SUBSOIL EXCAVATION	300	CY	23.38	7,014.00
120 6	EMBANKMENT	109	CY	7.73	842.57
160 4	TYPE B STABILIZATION	1,297	SY	55.28	71,698.16
210 1 1	REWORKING LIMEROCK BASE	6,569	SY	6.83	44,866.27
210 2	LIMEROCK, NEW MATERIAL FOR REWORKING BASE	420	CY	31.23	13,116.60
285 7 04	OPTIONAL BASE GROUP 04	473	SY	38.97	18,432.81
286 1	TURNOUT CONSTRUCTION/DRIVEWAY BASE - OPTIONAL MATERIALS	1,361	SY	25.61	34,855.21
334 1 52	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22	978	TN	232.35	227,238.30
425 6	VALVE BOXES, ADJUST	4	EA	1,923.44	7,693.76
522 2	SIDEWALK CONCRETE AND DRIVEWAYS, 6" THICK	74	SY	151.07	11,179.18
527 2	DETECTABLE WARNING	94	SF	162.30	15,256.20
570 1 1	PERFORMANCE TURF	951	SY	1.83	1,740.33
570 1 2	PERFORMANCE TURF, SOD	2,331	SY	5.86	13,659.66
700 1111	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF	21	EA	577.59	12,129.39
700 1112	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12 0-20 0 SF	2	EA	1,155.17	2,310.34
700 1600	SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	19	EA	75.09	1,426.71
706 1 3	RETROREFLECTIVE PAVEMENT MARKERS	136	EA	21.23	2,887.28
710 90	PAINTED PAVEMENT MARKINGS FINAL SURFACE	1	LS	10,743.10	10,743.10
711 11130	THERMOPLASTIC, STANDARD, WHITE, VERTICAL DEFLECTION MARKING	6	EA	577.59	3,465.54
711 17 1	THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS-SURFACE TO REMAIN	100	SF	1.16	116.00
<b>SUB TOTAL</b>					<b>739,153.66</b>

**ALL ITEMS MAY BE INCREASED, DECREASED, OR OMITTED AS DIRECTED BY THE ENGINEER.**

**ALL MATERIALS AND CONSTRUCTION SHALL CONFORM TO BOTH THE REQUIREMENTS OF THE LATEST FDOT STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION AND THE LATEST FDOT DESIGN STANDARDS.**

**ALL INCIDENTAL WORK INCLUDED IN THESE ITEMS  
ALL UNIT PRICE AND TOTAL SPACES MUST BE FILLED IN TO CORRELATE WITH EACH ITEM**

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS  
COLUMBIA COUNTY PROJECT NUMBER 2025-01  
Dortch St.**

Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
101 1	MOBILIZATION	1	LS	08,944.88	08,944.88
102 1	MAINTENANCE OF TRAFFIC	1	LS	84,592.10	84,592.10
104 10 3	SEDIMENT BARRIER	2,500	LF	2.40	6,000.00
110 1 1	CLEARING & GRUBBING	1.04	AC	10,928	11,157.12
110 4 10	REMOVAL OF EXISTING CONCRETE	81	04 SY	17.03	1,380.11
110 7 1	MAIL BOX, F&I, SINGLE	10	EA	504.00	5,040.00
120 1	REGULAR EXCAVATION	997	CY	3.78	3,768.66
120 4	SUBSOIL EXCAVATION	300	CY	26.56	7,968.00
120 6	EMBANKMENT	109	CY	20.00	2,180.00
160 4	TYPE B STABILIZATION	1,297	SY	5.55	7,198.35
210 1 1	REWORKING LIMEROCK BASE	6,569	SY	8.23	54,062.87
210 2	LIMEROCK, NEW MATERIAL FOR REWORKING BASE	420	CY	60.19	25,279.80
285 7 04	OPTIONAL BASE GROUP 04	473	SY	44.45	21,024.85
286 1	TURNOUT CONSTRUCTION/DRIVEWAY BASE - OPTIONAL MATERIALS	1,361	SY	12.12	16,495.32
334 1 52	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22	978	TN	175.81	171,942.18
425 6	VALVE BOXES, ADJUST	4	EA	234.00	936.00
522 2	SIDEWALK CONCRETE AND DRIVEWAYS, 6" THICK	74	SY	103.20	7,636.80
527 2	DETECTABLE WARNING	94	SF	30.00	2,820.00
570 1 1	PERFORMANCE TURF	951	SY	.47	446.97
570 1 2	PERFORMANCE TURF, SOD	2,331	SY	5.94	13,846.14
700 1111	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF	21	EA	540.00	11,240.00
700 1112	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12.0-20.0 SF	2	EA	780.00	1,560.00
700 1600	SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	19	EA	60.00	1,140.00
706 1 3	RETROREFLECTIVE PAVEMENT MARKERS	136	EA	10.50	1,428.00
710 90	PAINTED PAVEMENT MARKINGS FINAL SURFACE	1	LS	21,525	21,525.00
711 11130	THERMOPLASTIC, STANDARD, WHITE, VERTICAL DEFLECTION MARKING	6	EA	375.00	2,250.00
711 17 1	THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS-SURFACE TO REMAIN	100	SF	7.35	735.00
<b>SUB TOTAL</b>					<b>552,687.35</b>

**ALL ITEMS MAY BE INCREASED, DECREASED, OR OMITTED AS DIRECTED BY THE ENGINEER.**

**ALL MATERIALS AND CONSTRUCTION SHALL CONFORM TO BOTH THE REQUIREMENTS OF THE LATEST FDOT STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION AND THE LATEST FDOT DESIGN STANDARDS.**

**ALL INCIDENTAL WORK INCLUDED IN THESE ITEMS  
ALL UNIT PRICE AND TOTAL SPACES MUST BE FILLED IN TO CORRELATE WITH EACH ITEM**

JOHN C. HIPPI CONSTRUCTION  
EQUIPMENT COMPANY  
P.O. BOX 1000  
ALACHUA, FL 32616

**COLUMBIA COUNTY BOARD OF COUNTY COMMISSIONERS  
COLUMBIA COUNTY PROJECT NUMBER 2025-01  
Dortch St.**

Pay Item No.	Pay Item Description	Quantity	Units	Unit Price	Total Cost
101 1	MOBILIZATION	1	LS	\$ 88,669.89	\$ 88,669.89
102 1	MAINTENANCE OF TRAFFIC	1	LS	\$ 189,131.90	\$ 189,131.90
104 10 3	SEDIMENT BARRIER	2,500	LF	\$ 5.06	\$ 12,650.00
110 1 1	CLEARING & GRUBBING	1 04	AC	\$ 6,154.00	\$ 6,400.16
110 4 10	REMOVAL OF EXISTING CONCRETE	81.04	SY	\$ 68.00	\$ 4,700.32
110 7 1	MAIL BOX, F&I, SINGLE	10	EA	\$ 325.00	\$ 3,250.00
120 1	REGULAR EXCAVATION	997	CY	\$ 12.84	\$ 12,801.48
120 4	SUBSOIL EXCAVATION	300	CY	\$ 35.50	\$ 10,650.00
120 6	EMBANKMENT	109	CY	\$ 43.12	\$ 4,700.08
160 4	TYPE B STABILIZATION	1,297	SY	\$ 13.88	\$ 18,002.36
210 1 1	REWORKING LIMEROCK BASE	6,569	SY	\$ 3.37	\$ 22,137.63
210 2	LIMEROCK, NEW MATERIAL FOR REWORKING BASE	420	CY	\$ 29.40	\$ 12,348.00
285 7 04	OPTIONAL BASE GROUP 04	473	SY	\$ 27.75	\$ 13,125.75
286 1	TURNOUT CONSTRUCTION/DRIVEWAY BASE - OPTIONAL MATERIALS	1,361	SY	\$ 9.35	\$ 12,725.35
334 1 52	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC B, PG76-22	978	TN	\$ 298.13	\$ 291,671.14
425 6	VALVE BOXES, ADJUST	4	EA	\$ 1,325.00	\$ 5,300.00
522 2	SIDEWALK CONCRETE AND DRIVEWAYS, 6" THICK	74	SY	\$ 162.00	\$ 11,988.00
527 2	DETECTABLE WARNING	94	SF	\$ 64.00	\$ 6,076.00
570 1 1	PERFORMANCE TURF	951	SY	\$ 5.88	\$ 5,582.66
570 1 2	PERFORMANCE TURF, SOD	2,331	SY	\$ 2.60	\$ 5,827.60
700 1111	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, LESS THAN 12 SF	21	EA	\$ 450.00	\$ 9,450.00
700 1112	SINGLE COLUMN GROUND SIGN ASSEMBLY, F&I GROUND MOUNT, 12 0-20.0 SF	2	EA	\$ 2,500.00	\$ 5,000.00
700 1600	SINGLE COLUMN GROUND SIGN ASSEMBLY, REMOVE	19	EA	\$ 60.00	\$ 960.00
706 1 3	RETROREFLECTIVE PAVEMENT MARKERS	136	EA	\$ 6.00	\$ 816.00
710 90	PAINTED PAVEMENT MARKINGS FINAL SURFACE	1	LS	\$ 10,000.00	\$ 10,000.00
711 11130	THERMOPLASTIC, STANDARD, WHITE, VERTICAL DEFLECTION MARKING	6	EA	\$ 950.00	\$ 5,700.00
711 17 1	THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS-SURFACE TO REMAIN	100	SF	\$ 10.00	\$ 1,000.00
<b>SUB TOTAL</b>					<b>\$ 769,364.12</b>

**ALL ITEMS MAY BE INCREASED, DECREASED, OR OMITTED AS DIRECTED BY THE ENGINEER.**

**ALL MATERIALS AND CONSTRUCTION SHALL CONFORM TO BOTH THE REQUIREMENTS OF THE LATEST FDOT STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION AND THE LATEST FDOT DESIGN STANDARDS.**

**ALL INCIDENTAL WORK INCLUDED IN THESE ITEMS  
ALL UNIT PRICE AND TOTAL SPACES MUST BE FILLED IN TO CORRELATE WITH EACH ITEM**